~ (Regulations 2008/2010)

0144 CS 405 — Operating Systems for B.E. (Paft-'l‘ime)
mester — CSE — Regulations 2009/2010)

Maximum : 100 marks
Answer ALL questions.

PART A — (10 x 2 = 20 marks)

. 'Operating System.

YSTEM CALLS.

you mean by a critical section problem?

be the four necessary conditions for deadlocks.

.,.'hould paging be used by operating systems?

virtual memory.

the advéntages and disadvantages of continuous allocation of files.

do you mean by Remote File Access?



et of ‘pl"oéesse's, with the length of CPU-burst

3

1 1

p3 2 3
p4 1 1
p5 5 2

processes are assumed to have arrived in order pl, p2, p3, p4, p5 all
time 0: . :

 Draw Gantt chats illustrating the execution of these processes
~ using FCFS, SJF, a non-preemptive priority (a smaller priority
number implies a higher priority) and RR (quantum = 1)
- scheduling. '

7 ‘What is the turn around time of each process for each of the.
- scheduling algorithms in part 1)?

Or 2
fly explain methods of handling dead lock. 1)

’ fine the requirement of the correct solution. How semaphores are

(16)

et BT SR

used to solve dining philosophers problem? )
x . -




'system detect trashing? Once it detect trashmg what "
m does to eliminate this problem? :

Or
plain different disk scheduling Techniques.

‘ am in detail about applications of I/O interfaces.




